Compound Interest
Ex 11D

Ql

Answer:

(c) Rs. 832

A—P x(1+T{‘u)“

— Rs. 5000 x (1 + i)2

100

— Rs. 5000 x (E)z

- Rs. 5000 x (%)’

~ Rs. 5000 x (%

Rs. (8 x 27 x 27)
= Rs. 5832

"-__-/

“(%)

*. Interest = amount — principal = Rs (5832—5000) = Rs 832

Q2.

Answer:

(b) Rs. 3310

A=Px(1 R

= Rs. 10000 x

11
= Rs. 10000 x (1)
Rs. 10000 x (1) x (4) x ()
Rs. (10 x 11 x 11 x 11)
Rs. 13310

. Compound interest = amount — principal = Rs (13310 — 1000[!) = Rs 3310
Q3.



Answer :

(a) Rs 1872

Here, A = P x
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Rs 11872

. Compound interest — amount — principal = Rs ( 11872 — 10000)

Q4.

Answer :

(c) Rs 961
2 iR
He:re,A:Px(l-i—%) (l‘l'ﬁ)

Lxi0
4
+ 5

1
4041
40

= Rs. 4000 x (1+ 4% ) x
)

1
100+
100
110

(1+4%)
Rs. 4000 x (5% ’
- Rs. 4000 x (19)" x (4
Rs. 4000 x (4 x (1)
= Rs. (11 x 11 x 41)
— Rs. 4061

Rs 1872

. Compound interest — amount — principal = Rs (4961— 4000) = Rs 061

Q5.

Answer :

(b) Rs. 5051

Here, A — R;,.PX(HL

= Rs. 25000 x (1+ ; .
Rs. 25000 x (405 ) x (420 x (422

~ Rs. 25000 x (%) % (2) < (Z)

= Rs. (21 x 53 x 27)
= Rs. 30051

. Compound interest = amount — principal= Rs. (30051 — 25000) = Ras. 5051

Q6.



Answer :
(b) Rs. 510
Rate of interest compounded half yearly — %% = 4%

Time = 1year = 2 half years
Now, A = P x (1—!—%)“

2
= Rs. 6250 x (1413

2
Rs. 6250 x (121)
Rs. 6250 x (2) x (2)
— Rs. (10 x 26 x 26)
— Rs. 6760

. Compound interest = amount — principal = Rs. (6760 — 6250) = Rs. 510

Q7.

Answer :

(a) Rs.1209

Time = 6 months = 2 quater years

Rate compounded quarter yearly — —g %= %%
R n
Now, A = P x (1+ﬁ)

— Rs. 40000 x (1+ L)g

1002

200

203 203
Rs. 40000 x (22) x (22)

Rs. (203 x 203)
— Rs. 41200
. Compound interest — amount — principal = Rs. 41209 — Rs. 40000 = Rs.1209

2
— Rs. 40000 x (2"3)

Q8.

Answer :

(b) 26460

Here, A = P x(l—l—%)
— Rs. 24000 x (1+ )

— Rs. 24000><( )

i}

Rs. 24000 x (%) x (%)
= Rs. (60 x 21 x 21)

— Rs. 26460

Q9.

Answer:

(C) Rs. 43740

Here, A — Rs. P x (1- &)

~ Rs. 60000 x (1 110%)

3
— Rs. 60000 x (%)
~ Rs. 60000 x (5) % (%) = (&)
= Rs. (60 x9x9x0)
— Res. 43740

Q10.



Answer :

(b) Rs. 62500

Here, A = P x(l—i)‘l
= Px (1— %)2

= Px (%)2

-re(g)= (2)

— 40000 — 1P

Fiai
oo P = 20— Rs 62500
Q1L
Answer :
(a) 25000

Let P be the popultion 3 years ago.
Now, present population — 33275

3
33275 = Px (1+25)

100

= 33275 = Px (8)x (%) x (%)

= 33975 = &P

3
= 33275 = Px (M)

1000
. 33275 1000
o P o= 320 25000
Q12.
Answer:
(d) Rs 1261

_ Pxbx3
Here, SI = T

Px5x3
= 1200 — &2

= P = 200 _Rs 8000
x3

3
Amount at the end of 3 years = Rs 8000 x (1 +%)

Rs 8000 x (1”5)3

100

Rs 8000 x (%) x (%) x ()
= Rs (21 x 21 x 21)
— Rs 0261

. CI =A-P=Rs (9261—8000) = Rs 1261

Q1s.

Answer:

(d) Rs 480

— 510 — (%"—P)

_ [ B1P—64P
=>-510_( = )

7P
=510 =

o P — 8 Rs 1020

_ PxRxT
Now, SI =~

—Rs 1920 2x 25 — Rs 480

10002




Q14

Answer :

(d) Rs 4096

3
We have Rs 4913 — {Px (1+i) }

100 x4
3
- Rs 4913 :{Px (%) }

S Rs 4013 = {Px (%) x (£) x (%)}
= Rs 4013 — 228P

4913 4096
= P = Rs A23X49% _ g5 4006

Q15.

Answer:

(c) 6%

Here, A = P x(1+%)

— Rs. T500x(1+%
L

— Rs. 7500 x (1 '

However, amount — Rs. 8427

2
Now, Rs. 8427 —— Rs. 7500 x (1 n %)

y
)

R _ 53
= 100 50

R 5350 3
= 100 50 50
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